
Buffer l/O error on device sdce, logical block 0
sd 0: 0:2 : 0: [sdac] Result: hostbyte= Dl D_OK driverbyte=DR|VER_SENSE
sd 0:0:2:0: [sdac] Sense Key : lllegal Request [current]
sd 0:0:2:0: [sdac] <<vendor>> ASC=0x94 ASCQ=0x1ASC=0x94 ASCQ=0x1
sd 0:0:2:0: [sdac] CDB: Read(10):28 00 00 00 00 00 00 00 08 00
end_request l/O error, dev sdac, sector 0
Buffer l/O error on device sdac, logical block 0
sd 0:0:2: 1 : [sdad] Result hostbyte=Dl D_OK driverbyte=DRIVER_SENSE
sd 0:0:2:1: [sdad]Sense Key: l l legal Request [current]
sd 0:0:2:1: [sdad] <<vendor>> ASC=0x94 ASCQ-Ox1ASC=0x94 ASCQ=0x1
sd 0:0:2:1: [sdad]CDB: Read(10):28 00 00 00 00 00 00 00 08 00
end_request l/O error, dev sdad, sector 0
Buffer l/O error on device sdad, logical block 0
sd 0:0:2:4: [sdag] Result hostbyte=Dl D_OK driverbyte=DRIVER_SENSE
sd 0:0:2:4: [sdag] Sense Key : lllegal Request [current]
sd 0:0:2:4: [sdag] <<vendor>> ASC=0x94 ASCQ=Ox1ASC=0x94 ASCQ=Oxl
sd 0:0:2:4: [sdag]CDB: Read(10):28 00 00 00 00 00 00 00 08 00
end_request l/O error, dev sdag, sector 0

sd 0:0: 1 : 1 3: [sdab] Result hostbyte=DlD_OK driverbyte=DRIVER_SENSE
sd 0:0:1:13: [sdab] Sense Key : lllegal Request [current]
sd 0:0:1:13: [sdab] <<vendor>> ASC=0x94 ASCQ=0x1ASC=0x94 ASCQ=0x1
sd 0:0:1:13: [sdab] CDB: Read(10):28 00 74 60 Sf 80 00 00 0B 00
end_request: l/O error, dev sdab, sector 1952472960
sd 0:0:2: 0: [sdac] Result: hostbyte=Dl D_OK driverbyte=DRIVER_SENSE
sd 0:0:2:0: [sdac] Sense Key: lllegal Request [current]
sd 0:0:2:0: [sdac] <<vendop> ASC=0x94 ASCQ=Ox1ASC=0x94 ASCQ=Ox1
sd 0:0:2:0: [sdac] CDB: Read(16): 88 00 00 00 00 03 a3 02 ff 80 00 00 00 0B 00 OO
end_request l/O error, dev sdac, sector 15619784576
sd 0:0:2: 1 : [sdad] Result: hostbyte=Dl D_OK driverbyte=DRIVER_SENSE
sd 0:0:2:1: [sdad] Sense Key : lllegal Request [current]
sd 0:0:2:1: [sdad] <<vendop> ASC=0x94 ASCQ=Ox1ASC=0x94 ASCQ=Oxl
sd 0:0:2:1: [sdad] CDB: Read(10): 28 00 74 60 5f 80 00 00 08 00
end_request: l/O error, dev sdad, sector 1952472960
sd 0: 0:2:2: [sdae] Result: hostbyte=Dl D_OK driverbyte=DRIVER_SENSE
sd 0:0:2:2: [sdae] Sense Key: lllegal Request [current]
sd 0:0:2:2: [sdae] <<vendor>> ASC=0x94 ASCQ=Ox1ASC=0x94 ASCQ=Oxl
sd 0:0:2:2: [sdae] CDB: Read(16): 88 00 00 00 00 03 a3 02 ff 80 00 00 00 08 00 00
end_request: l/O error, dev sdae, sector 15619784576
sd 0: 0:2:4: [sdag] Result: hostbyte=Dl D_OK driverbyte=DRIVER_SENSE
sd 0:0:2:4: [sdag] Sense Key : lllegal Request [current]
sd 0:0:2:4: [sdag] <<vendor>> ASG=0x94 ASCQ=Ox1ASC=0x94 ASCQ=Ox1
sd 0:0:2:4: [sdag] CDB: Read(16): 88 00 00 00 00 03 a3 02 ff 80 00 00 00 0B 00 00
end_request: l/O error, dev sdag, sector 15619784576

dracut: /dev/sday: read failed after 0 of 4096 at 0: InpuUoutput error
dracut: /dev/sday: read failed after 0 of 4096 at 999666155520: InpuVoutput error
dracut: /dev/sday: read failed after 0 of 4096 at 999666212864: InpuVoutput error
dracut: /dev/sday: read failed after 0 of 4096 at 4096: InpuUoutput error
dracut: /dev/sdce: read failed after 0 of 4096 at 0: InpuUoutput error
dracut: /dev/sdce: read failed after 0 of 4096 at7997329702912: Inpuvoutput error
dracut: /dev/sdce: read failed after 0 of 4096 at7997329760256: Inpuuoutput error
dracut: /dev/sdce: read failed after 0 of 4096 at 4096: InpuUoutput error
dracut: /dev/sddk: read failed after 0 of 4096 at 0: InpuUoutput error
dracut: /dev/sddk: read failed after 0 of 4096 at7997329702912: Inpuuoutput error


